No. 1 &% 100m BEHEF R A LR
EFIE

148 & IE =15
1. i 1B; (BEXS ) &l £
2. B8R RiE (S CIRH ) /6 1 1:28.25
3. INUEEE (#x[E R ) ®1 2 1:29.12
4. =% #F (BEXS ) &2 £
g. g B EE%BEP ; m1 3 1:38.35
248 & B =]
1. @Il BEqhE (AP E ) 2 3 1:22.42
2. B Ex (BEXS ) B 2 1:21.93
3. B HeE (BEXS ) BE1 1 1:16.59
4. Bl D0 (TEEp2R ) d2 4 1:22.T1
5. K& tiE (BEXS ) B 5 1:24.08
6. ( )

34 &g i3]
1. B& fnxE GKEWIZANN) M6 5 1:17.75
2. A% =7+ (K& ) ®H2 3 1:16.26
3. INE BF (FEE®R ) =1 1 1:12.35
4. Bl TEFE (1) 1)—sC ) /6 2 1:15.59
g. =8 0OFVY E'J 1)—SC g N6 4 1:17.42
448 &g =T
1. BiE M (BEXS ) &2 -3
2. &M —;ZH (BEXS ) B2 3 1:10.47
3. |/l A= (TR Kt ) 1 2 1:09.99
4, WA #HFK (BEXS ) =1 1 1:08.71
5. &R fE/mE (J1)—SC ) ®2 E- 3
6. BEF =i (RISS ) H2 4 1:10.82
5#H & B =T
1. AR Bk (KPF—= ) =2 5 1:10.97
2. WY XK (BEBEXS ) =1 3 1:06.45
3. HE DR (BEXS ) =1 4 1:06.96
4. ¥BF & (BEBEXS ) =1 2 1:05.33
g. N ED E:*ancBﬁEcF g 3 1 1:05.09
No. 2 BF 100m HHR B A LiREE

BEFIE

148 &8 =T
1. & 240 (REBeh ) 1 5 1:41.19
2. BIE A (BEXS ) B 2 1:16.71
3. BAR # (R)Ileh ) $2 4 1:22.91
4. }EO F (R KRZE ) 1 1:15.77
g. we RE E.ﬁlﬁmﬂ g f1 3 1:18.26

248 b= ] B R
1. k# B2 (R ISS ) ®1 1 1:05.29
2. BBk KiE (7SR ) 55 111471
3. Wi BX (BEE®R ) =12 1:11.34
4. IR #i (1)1)—sc ) /6 3 1:11.85
5. #E R4 (BEES®R ) =2 4 1:12.01
6. RE HEHF (RNl ) 2 6 1:19.57
348 &I B
1. B BEX (FiFhPRE ) 2 6 1:12.47
2. B BIE (1)1)—SC ) 1 4 1:06.38
3. BF —% (FERE®R ) =2 1 1:02.67
4. INE XK (R K ) 2 1:04.70
5. KABHA (F RS R ) /6 3 1:06.37
6. Bl EEB (kR eh ) &2 5 1:11.83
448 &8 R ]
1. INEF#E E£4% (S CIRH ) 1 57.83
2. BX ## R K= ) 2 59. 85
3. Ad R KRZE ) 3 59. 95
4. Bk B2 (BEXS ) =3 4 1:02.25
5. ANl iR (R ISS ) 5 1:03.81
6. A * (X K0B ) 6 1:10.49
54 BIE EER
1. B f#£A (WEB-&E— ) d3 3 59. 39
2. B kR (BEXS ) =1 4 59. 71
3. A R*E (BEXS ) =2 1 57.00
4. ¥ BERR (BEXS ) =2 6 1:03.12
5. #O Ei# (7 RS R ) 5 1:01.26
6. BIE HE (BEXS ) =2 2 58. 52
No. 3 Z&F 100m Fpk& A LRE
BT
11%5 ( ) b 35|
2. 3T o (#X ) ®1 3 1:53.39
3. s & (BEXS ) =1 1 1:40.14
4. B BATE (EARPZHE ) 2 2 1:45.23
g BH EX Ejpkq:% g h2 4 2:03.67
aﬁ ( ) &I B
2. B BRE (REB ) 3 4 1:43.24
3. A &< (K& ) &2 1 1:40.52
4. BE til (BEXS ) B 2 1:42.70
g. =g tiE E? FSR ; 2 3 1:43.15




No. 3 Z&EF 100m Fpk= A A LR No. 6 BF 100m /NZ2I5A A A LR
BEFE BEFE
34 _ =g B#Feﬁ 148 =g R ]
1. B% EMH (BEXS ) =2 5 1:33. 1. ( )
2. BE $HE (ScCiH ) N6 4 1:32 79 2. NE IEM (ZRePH ) &2 1 1:20.45
3. FE BiE (ZXKMEHR ) =2 2 1:29.90 3. HAR & (HFEES® ) =2 2 1:26.82
4. \BEH RF (RAO0B ) 1 1:26.77 4. &1L NBER  (BRESR ) =2 3 1:29.35
g. FE BA Eﬁﬁ]%*’fc g B2 3 1:32.21 g Bt (A Efﬂﬁss g N ZiE
No. 4 EBEF 100m FkF B A LR
BFE
148 &I 3 248 EIE R
1. Eg % (R&hdh ) ®1 4 1:58.43 1. A (R ) 1 3 1:20.57
2. kB =W (REBeh ) &1 3 1:50.05 2. EH @R (#% & ) 2 4 1:22.25
3. K Rk (R&heh y B2 1 1:28.06 3. Bk BF (REpe ) &1 1 1:08.88
4. & 1B&A (1) 1)—SC ) M EiE 4, @it $HE (RN ) &1 2 1:13.17
g Eig KiE Eﬁlﬁl%& g =) 2 1:42.66 g Ew 18— E?ﬁj:rﬂ\ﬂiqﬂ ; th2 i
24 EIE i 34 &8 B ]
1. EF BN (FAER ) B2 4 1:26.72 1. B (WEBs-&— ) &3 4 1:15.57
2. 7 Bx (B)Ileh ) ®H2 5 1:27.93 2. & FEEXER kF—8& ) =2 2 1:04.94
3. |l RE (RAMES ) &3 1 1:19.57 3. —kEm BA  (BikE ) 1 1:00.71
4. K &= (WEB-E— ) B3 2 1:21.78 4. IMF RE (kA ) 3 3 1:05. 11
g W i Eit*ch%; g 3 1:26.43 g & K% Eu 1) —SC g 2 =i
No. 7 Z=F 100m &= A A LRI
BFE
348 EIE e &I R
1. fRiF —=& (K ) 5 1:17.69 1. Rk &H=E (ERhZ y &2 5 1:31.10
2. B8 & (i B HT ) 4  1:15.21 2. FEttHE () 1)—Sc ) N6 4 1:26.64
3. EH KB (KF—& ) &2 1 1:06.31 3. £F BB (B8RS ) =2 1 1:07.30
4. EO BAE (Fiks ) 3 1:14.94 4. EH B (K HSS ) N6 3 1:19.02
5. /O & (7 F5R ) H2 2 1:13.90 5. Bl TER (1)1)—SsC ) =i
6. ( ) 6. JBE 1&KE (7SR ) B2 2 1:10.66
No. 8 EBF 100m &TkF B A LR
BT
448 &g =S| 148 =g R ]
1. RE EA (FRIHSS Yy &1 5 1:12.40 1. ( )
2. Blg BEE (1) 1) —SC ) ®H3 4 1:12.33 2. ¥ EX (FRb2R ) d1 3 1:16.10
3. R#t Fnst (BEXS ) 1 1:04.62 3. Al WER (R 34SS ) 2 1:11.73
4, £ tHEBE (& K0B ) 2 1:07.14 4. h@ —%F (FAER ) =14 1:17.09
5. foEE A (&g ) @1 3 1:12.06 5. /7)1 A kF—8 ) =2 1 1:04.98
6. ANl #at (RIE K2 ) 6 1:14.67 6. ( )
No. 5 ZF 100m ~NFI54 A A LR
BFE
& 3 248 EIE R
1.8 AT (ZXMEHR ) &2 5 1:22.00 1. ( )
2. ME BEE (BEXF ) =B 3 111471 2. A #EN (WMEB-&— ) &3 2 1:09.07
3. MH KRB (KFm ) ®2 2 1:08.78 3. B8 B (R K ) 1 1:03.75
4. BF (1)1)—SC ) B3 1 1:07.96 4. ML BEKER (S CHRI ) 3 1:09.27
g. INB O BEHE E?k)EFﬁl'ZEJIIIJ\g N6 4 1:18.78 5. EAE #3 E?ﬁj:rﬂ\ﬂ%:l: ; 2 4 1:12.11
. 6.




No. 9 =Z&F 50m HBHHR® R A LR
EFE

148 & B =15
1. EREK GER/NER ) M3 50. 80
2. R BEE (FE3R ) M2 47.49
3. FHMBE GER/NER ) N3 4 51.49
4. BHF EXR (R ) &2 1 44.15
g. RKWFEEH CGER/NER ; N b 54.95
248 & B =]
1ot bE (R ) il 39. 40
2. B8 BT (RESS ) M4 45.39
3. WE A (BJlleh ) &1 3 44. 60
4. RE B (BEXS ) & EiE
g. H  BKER{E EEJIIEP g fl 2 41.62
34l & B R Al
1. B [X5Hh (BlHF ) &1 2 38.72
2. ItE #53 (BN ) i 3 39.37
3. FH =B (#x e ) &1 4 39.92
4. 8% KmE (7 k3R ) M 1 38. 31
g. E F4E EEJIIEF' g fi 5 44.57
448 & B =T
1. =8 #&F (BEXS ) B2 EiE
2. @Il BHE (KD HF ) &2 2 36. 31
3. R B% (RERh ) &2 1 36. 20
4. /K RiE (S CEH ) 63 371.72
5. At XA OKEmILANN) /6 4 41.23
6. Bz = (R ) ®2 5 44.73
5% & IE =T
1. Wk & (BEXS ) &1 4 35.55
2. 2% OFxY ()1)—SC ) /N6 2 34.93
3. Al F0 (R ) &2 1 33.72
4. JefE ¥ (HFHR/NER ) M3 35.49
5. Rilu BEHMA (R&Re ) &2 b 36.03
6. /NMUBFEE (#xE e ) &1 6 38.84
6 8 &IE =]
1. 18 EE (BN ) &2 5 35.25
2. B #E2 (1) 1J—SC ) b 3 34.82
3. B ImEE (BEXS ) &1 2 33.78
4. HJI TE#% (1)1)—SC ) N6 1 33.70
5. Bl ®H/E (Rl ) @2 4 35.03
6. BEF =B (BEXS ) B2 6 36.44

7% EIE B R
1. i FEE (S CHR ) N6 2 31.91
2. E/ OfEhE () 1Y-=SC ) 2 2k
3. HN ED (ZRKMES ) 3 1 30. 01
4. &F FEE (1)1)—Sc ) ®$3 3 32.03
5. B M (BEEXE ) =2 2k
6. JIlE @B3F (FFEE& ) =1 4 32.31
No. 10 BF 50m BB B A LR

EFIE

148 EIE B
1. INIEH GER/NER ) NS E- 4
2. BN [GE (R ) 1 1 41.39
3. B $F (RIWSS ) 23 48. 47
4. 5K b (kR h ) ®#1 2 43.87
g. HME BE E7J<)EF1'T1'T_EJIIII\; N 4 55.02

Zfﬁﬂ___ &I B R
.88 M (6 FE] ) ®l 2k
2. INB O BSER CKEWIZAININDN) M 4 48.09
3. Wiz E&H (Z7E3R ) /M6 3 44.02
4. &8 B (6 FE] A ) 1 2 43.22
. & 1§ (REpep )= =0 43.12
6. ( )

34 b= ] B
1. &g = (R&Rep ) 1 5 41.14
2. jC:F B2 (RERH ) ®2 2 38.43
3. Bk & (RN ) ®#1 4 39.12
4. E+= B& (1) 1)—SC ) /N6 3 38.72
g. AN H EK‘E‘BEF' ; ==] 1 35. 61

448 i EIE B
1. BE TS (REpep ) 2 2 34. 41
2. HE K¥E (P KE ) 3 34.67
3. BRIl =& (#x R e ) 1 4 37.56
4. i,':'l:l # (FFKE ) 1 33.31
5. & (S CcHr ) 2k
6. FWD ;ﬁﬂl (ZKR 4SS ) /N5 5 38.08

548 b= 2] B
1. IIljg E{Z (1)1)—S8C ) 6 5 36.17
2. IMAIRERZE (e FE] ) F2 4 36.14
3. INE #BER (1)) —SC ) b2 35.72
4. £H B2 (RIMSS ) /b3 35.90
5. RE WBEH (R ) F2 1 35.18
6. 5@ E#F (RN ) ®#1 6 38.53




No. 10 B+ 50m HAE® EREPN Y
EFE
6 # & B =15
1. BiE A (BEXS ) &=l 2 32. 11
2. Ah B (Bl ) ®l 1 30.80
3. BBk KiE (73R ) /N5 6 34.17
4. H©EH EE (Bl ) ®H2 b 33.62
5. K H (#x e ) ®1 4 33.217
6. EIR HhE (BEXS ) &1 3 33.19
7 48 & B =T
1. 87 3t (xEE R ) =2 Edi
2. ¥E@ [E (Rl ) 2 31.16
3. BIE EX (FFEFERER ) $2 5 32.10
4. RNBEFIX (7 k2R ) IN\6 1 30.14
5. KX EK (7 k3R ) ®H2 3 31.23
6. 5K Mt (KRR ) 2 4 31.95
8# & IE =T
1. A& = (LERPZER ) ®2 3 30. 56
2. RAR =B (KFHM ) ®3 4 31.96
3. A uEB (FRKMES ) B2 2 30. 39
4. INE HEX (FK0B ) 5 32.08
5 % R (AR ) 1 30.10
6. X% Z&H (KMt ) i EHE
9 #H &IE R Al
1. BiE BEIE (1) 1J—SC ) 5 29.93
2. #lu AR (S CHRH ) 6 30. 33
. kAKX B (Fr3XR ) 3 28.99
4. B — (xEE R ) =2 1 27.23
5. #H #®%th (xEE R ) B 2 28.55
6. T BN (fxEE R ) =2 4 29. 56
1048 & B =T
1. #0O ER (7 k3R ) 5 27.15
2. Af RE (BEXE ) =2 3 26. 66
3. Bl % (BREXE ) &1 1 25.97
4. EKX g3} (1)1)—SsC ) ®H3 2 26.16
5. BiR Kig (AR ) 4 27.04
6. Bk A (Rl ) H2 6 27.30
No. 11 &F 50m Pk E B A LR B
EFIE
11$E ( ) & B R FAl
2. MMBEKRF GEHE/NER ) M3 4 1:11.10
3. EMEIK GEHE/NER ) /M3 1:10.95
4. BRHE GEHE/NER ) /M5 1:15.03
5. NI RZE (S CH ) /b2 1:04.19
6. & T COKEWILBINND) /N6 1 54.85

2#8 - EIE B
1. B 2 (RGP ) &2 5 1:02.99
2. 8 & (REpep ) H3 2 47.99
3. Bl By (BNl ) 2 3 48.55
4. O &< (K& ) H2 1 46.717
g. I 2 Eﬁﬁqﬂ g ==] 4 52.87

38 b= ] B
1. EF [BE (fFMAE ) = 5 41.98
2. FE [BfE (RAKMES ) H2 4 40. 93
3. AH = (RIASS ) 61 37.96 X&#H
4. HE zﬁ"b (RIHSS ) ®#1 2 39.22
g. JI\BH FH Ef}’{j{OB ; 3 40. 21
No. 12 BF 50m  FEkE A LR

EFIE

148 EIE Bl
1. XA [BE (R ) 1 4 55. 73
2. & # (R )= =0 52.23
3. Wiz B (Z7E3R ) /M6 3 55. 66
4. & 2N (#x R e ) 1 2 54. 26
g. mE X% EEJIIEF‘ g ==l I 55.98

24 EIE SR
1. =28 M (&R e ) i -4
2. RN & (kR eh ) &1 2 52.56
3. XF Eth (RERH ) ®2 1 47.78
4 2% &% (1)1)—sc ) NS -3
g. A+E B E'J 1)—SC ; ) K%

348 EIE B R
1. NI ER S (#x R ) B2 4 46. 34
2. WA % (REBH ) H2 1 42.04
3. X EK (REBH ) ®$2 3 43.79
4. EJE HRE (BEEXS ) &1 2 43. 61
5. mlHF @R (Z7E3R ) /55 48.98
6. E&N H (REBH ) Hi 6 51.50

448 b= ] B
1. 8 BF (RN ) &1 5 47.76
2. A EE (R ) F2 2 44.54
3. Iy EFE (fFE = ) = 1 43.55
4. EBi5 KiE (fFEE& ) = 3 45.53
5. &K # (R ) H2 4 47.26
6. BEO #B—E (Eike ) i -3




No. 12 BF 50m  FERE B A LR No. 14 BF 50m N2 54 B A LR
EFIE BEFE
5 #f &I i ] 148 &8 B
1. I/ E (1)1)—SC ) N6 5 43.96 1. mH# #E (Z7E3R ) /55 40.92
2. K = (WMEB-ZE— ) &3 2 37.50 2. Wik X (xR =8 ) &=l 1 36.57
3. Rig —& (R KZ ) 1 34.04 3. mA [BE (CRKHtE S ) &1 2 36.80
4. JE  iEsk (KKt ) B2 3 40. 06 4. B RH (#% = R ) &1 3 37.32
5. ¥y |3l (FRIASS ) M4 43.12 5. X EX (REBH ) 2 4 37.71
6. M= REE (S CApH ) EiE 6. £ 1&A (1) 1)—SC ) M EiE
648 &IE =T 248 b= ] B
1. XAR EBI (KkFmI ) ®H3 5 40. 81 1. AR £ (FREPZ2 ) H2 4 36.36
2. & K% (1)1)—sC ) 2 £ 2. R 4 (fFMA =& ) B2 1 32.75
3. /A & (75X ) ®2 2 34.17 3. HE X (& K0B ) 2 32.78
4. LF BFA (BEXE ) B 1 34.16 4. k¥ (GRISS ) #H1 3 33.07
5. £7 #BX% (BRIl ) H2 4 40.54 5. 2% =& (R KBt ) i ZiE
6. BRA 1% (FEE®R ) B 3 38.03 6. EF Fh3 (BHRE S’ ) =2 EiE
7 #8 &8 e 34 &8 i=dh|
1. EE& EA (FRIASS ) &l 5 34.38 1. #lu HI! (S CHR ) 6 32.38
2. /i & €3N ) 4 34.07 2. INERER Ot (Z7E3 R ) ®H3 5 29.98
3. ki tHE (R AX0B ) 1 30.77 3. ER & (1)1)—Sc ) 3 1 26. 06
4. A E (FRIKSS ) B2 2 31.90 4. IMF EE (kFm ) &3 4 29. 47
5 Mm@k A (REBR ) Bl 3 33.37 5 ANl A kF—& ) =2 3 29. 46
6. B3 @A (WEB-ZE— ) &3 6 34.83 6. NEFE E=th (ScCHW ) 2 27.96
No. 13 %F 50m N2 54 B A LR No. 15 ZF 50m  EHkEFE B A LR
BEFIE EFIE

148 & B =T 148 & B B
1. ( ) 1. ¥R B&FE (73R ) M2 57.09
2. g BAZ (RER e ) Bl 3 44.07 2. EBHDA CER/IMER ) M5 :03.72
3. B4t A% (R ) ®H2 2 42.56 3. ( )

4. 2% KmE (73R ) M 1 40. 85 4. M RZE (S CHRH ) /1D 1 54.80
5. BRFIE GEHE/NER ) M4 1:23.52 5. Bl GER/DSE: Yy 6 3 00. 62
6. ( ) 6. SIFRFED GRE/NER ) M 4 :01.73
248 &8 R 248 &8 i=dh]
1. ¥R Ak (73R ) /N6 5 48. 54 1. FE =B (6 FE] A ) i 4 47.78
2. dL1E 7 (FH/NMER ) /M3 42.01 2. mEH BZE  (KEH ) 2 2 40. 89
3. mMH EX (1)1)—SsC )\ 37.69 3. B #HE (1) 1y—s¢ Y N5 39 45
4. = tiE (73R ) &2 2 39. 47 4. B #=E (ZRIASS ) N33 42.58
5. B¥ = (FRIWSS ) N3 4 46. 14 5. B ®T1E (WSS ) M 5 52. 34
6. ( ) 6. AR XRi#F (REBH ) 2 £
3% &IE R Al 348 b= ] B
1. & Rt (TR Kt ) ®H2 5 36.59 1. B& GkEWIZFNN) M6 5 39.27
2. INB BSHE OKEWIZAINNDN) N6 2 33.53 2. EH B (FRIASS N6 4 37.72
3. Bf WM (1)1)—SC ) =3 1 30. 82 3. £F BB (B8RS ) =2 1 30.78 X&£#H
4. BiE #NE (1)1)—SC ) &2 3 33. 89 4, iBH KB (73R ) ®2 2 31.81
5. &% =& (1)1)—SC ) #3 4 35. 84 5. A $HHE (SCHM ) /63 37.21
6. ( ) 6. Hk &HE (BRIl ) ®H1 6 42.00




No. 16 EBEF 50m  EHikF R A LR No. 18 BF 200m {EAAFL— 3 A LR
EFE BEFE
140 &EE (=35 14 EIE Bl
1. @ BE  OKEWIANN) M35 1:04.91 1. 2% B2 (FWSS ) N5 5 3:10.76
2. EE B (K& ) fl T 45,56 2. B MR CGRIESS ) N2 2:57.08
3. MEfT BA (REB ) H2 2 48.43 3. @A)l EE (@A ) 2 1 2:51.53
4 kA R (GE®D ) 1 3 51. 86 4. A% T|I (KWSS ) M4 2:58.80
g. =/ E Eﬁﬁ]qﬂ g == N '] 56. 49 g. EH #R Eﬁlﬁlﬂh g 2 3 2:58.10
248 &IE =T 248 b= ] B
1. INB BRSER OKEfILANN) /M5 55. 04 1. INE HENR (RS ) d2 3 2:41.28
2. E¥ B (RIKSS ) N5 4 46. 86 2. T EX (R ) d1l 4 2:41.50
3. INEN #BER (1) 1)—SC ) b 2 42.15 3. Bk B2 (BEXS ) @3 2 2:34.25
4. +E BE (KMt E S ) Bl 3 43.71 4. ( )
g. B2 i EE%BEP ; 2 1 39. 71 g. Wi EFEA Eﬁ%k% ; =301 2:21.11
348 & B =T 3% b= ] B
1. I8 (1) 1)—SC ) /6 5 38. 66 1. Bls #E (BEXE ) =2 4 2:21.76
2. BK EK (7 r3 R ) f12 4 37.96 2. ME M (AR E ) &1 3 2:26.40
3. BR #Hi (KRR ) 2 3.7 3. Tk FAE (Rl ) 12 1 2:23.62
4. %HF FKEE (KF—5 ) &2 1 26.69 K& 4. BiIR XiE (AARpE ) 2 2:24.81
5. M@ EMt (FEEER ) =2 3 35. 63 5. ANl RE (ZRKMES ) ®$13 5 2:37.00
6. 2% E% (1)1)—SsC ) N3 EiE 6. ( )
No. 19 &ZF 200m H@EB A A LRE
EFIE
448 &IE R Al 148 & B B
1. EAR #H3 CRXKHES ) 2 4 34.217 1. ( )
2. #EE #Bth (R FE = AR ) B 5 34. 47 2. B EXE (BEXS ) &2 2 3:01.76
3. FiH =|X (kKF—& ) =2 1 28.06 K&#r 3. AAkR 77 (K& ) 2 1 2:45.93
4. B HE (7 FZR ) 2 28.56 X=# 4. FiR HE (73R ) /M6 3 3:03.11
5. tE@ N (WMEB-E— ) 3 3 32.21 5. ( )
6. @A —%&F (f% FE = 4% ) B 6 35.00 6. ( )
No. 17 ZF 200m @EAAFL— B A LR
EFE
140 &g Rl 248 =} i=dih|
1. KK #HE (IEARFE ) &2 4  3:16.52 1. ( )
2. NlEw HExE (S CHR ) /N6 1 2:52.52 2. WA EK (BEEXE ) &=l 3 2:28.87
3. Rl fE® (1)1)—SsC ) i EiE 3. BF & (BEXS ) &1 1 2:23.82
4. fEAHEE  #N (1)1)—SC ) /N6 2  3:06.59 4. KR B kPF—5& ) B2 4 2:30.29
g. RH OEX E'J 1)—SC g NG 3 3:10.02 g B8 IIES ET SR g ==] 2  2:25.21
No. 20 BEF 200m EHE® B A LR
EFIE
248 &IE R Al 148 & B B
1. B85 =& (FRISS ) 2 4  2:53.89 1. ( )
2. =@ &N (BEEXE ) B 3 2:44.43 2. @it $H&E (RN ) ®#1 2 2:19.18
3. mE MR (BEEXE ) B 2 2:42.39 3. INEFEE Ot (73R ) ®3 1 2:12.95
4. HE BZE (RIKSS ) 1 1 2:41.73 4. Bk 1&—B CrRRMESD ) 2 4 2:37.25
g. gl FiE EEED&MTEEF ; il 5  2:55.16 g. Bl RAER Eﬁﬁl%‘#& ; = 3 2:34.65




No. 20 2? 200m BHBF B A LR No. 26 Z¥ 200m HikE B A LR

EFE EFIE
21.%3 ( ) ZE B 1 ( ) EIE 5
2. =B AR (BERE ) =1 3 2:10.68 2. ( )
3. BA @3 (J1—SC ) 3 2 2:00.69 3. AH XBE  (kFmM ) B2 1 2:32.88
4. BB B (BBAS ) =1 1 2:00.18 4 ( )
5. AKX E&HF (REReR )y &1 4 2:13.23 5. ( )
6. ( ) 6. ( )
No. 21 &F 200m Fk=F B A LR No. 26 BF 200m Bik=F B A LR
BFE BFHE
| ( ) EE =35 1 ( ) EHIE =35
2 ( ) 2. BN EW (FESS ) B2 1 2:22.42
3. A% @ (FRIHSS ) N6 1 2:50.30 3. B HE (FrSR ) E 30
g. MA @K Eﬁﬁ;—iﬂc% g =12 3:10.69 g Gl=g:! Ejtak:h% ; f1 2 2:31.05
6. ( ) 6. ( )
No. 22 BF 200m Fk= B A LR No. 27 ¥ 400m BEE B A L%
EFE EFIE
11.%3 ( ) ZE B 1 ( ) EIE 5
2. tRE 1K (REE % ) =2 3 2:50.45 2. ( )
3. I BEAR (EERE ) =2 1 2:40.15 3. BBlES (FRSR ) 1 1 5:0858
4 BE K (R A ) 2 2:40.73 4 HIE BEE (BEXE ) =2 1 5:0858
5. I EFE (fx R =42 ) &1 4 3:33.80 5. ( )
6. ( ) 6. ( )
No. 28 BF 400m HB@© PNy
EFIE
24 EIE  EERS EIE &
1. ( ) 1. &K BA (AT ) 1 5  8:24.22
2. O BAH (Bks ) 3 2:40.22 2. 2L AR (RESK ) =2 3 6:11.47
3. AK F#t (BEAE ) 1 2:22.43 3. HiH = kF—& ) =2 1  4:08.37
4 2ig BE (11 —SC ) 3 2 2:39.77 4. il EAR (GEASK ) =2 2 5:41.43
g. =g = EiEEET g 4 2:40.49 g KiF = Eﬁﬁ]tﬁ ; thl 4  6:29.55
No. 24 BF 200m 2754 B A LR
EES
| ( ) EIE 35|
2. Mk B (WMESox— ) 3 3 2:55.13
3. AE & (1) 1) —SC ) 3 1  2:03.68
L51. B EXHER E;kﬁ—.‘%‘ g B2 2 2:29.13
6. ( )
No. 29 B& &xbo0m  JU—1L— B A LR
BFE
140 o EIE &
1. SEE/NERZA ( . . : ) —f&  58.82 5 4:06.38
2. Rllh$kck  ( ) —fg ZiE
3. RIlFEKAL  ( ) —fg 3851 2 2:45.53
4 BlhERBE  ( ) —fg  43.52 3 2:53.22
5. EE/NERB ( ) —f&  57.09 4 3:59.26
6. HtEY ( ) —f&  37.30 1 2:33.08




No. 29 E& 4x50m ZUy—1yL— 2 A LRRE
RFE

2 %% BE __BE
1. RINPFER D5 ( ) — % 30.92 1 1:54.34
2. RINPFERBEH ( ) — g 35. 51 2 2:17.44
3. S CHI ( ) — g 31.70 3 2:18.14
4. RIIFZRAR ( ) — % 30.09 5 2:40.39
g. R EHRCH E ) — % 52.13 4 2:35.22

) )

34 F—kE  BIE R
1. BINERR ( ) — % 34. 56 4 2:30.21
2. #xREHC ( ) — % 43. 06 6  2:42.22
3. R&p+B ( ) — % 35.08 2 2:23.22
4, LREPER ( ) —fi% 30. 07 1 2:16.33
5. R&fpC ( ) —fi% 36.93 5 2:37.12
6. SCih ( ) —fi% 47.49 3 2:29.71

448 F—kE  AIE  ER
1. Z&K0B ( ) — % 30.90 2 2:01.86
2. MWARPE ( ) — % 38.20 6 2:33.86
3. ZWKFEB ( ) — % 27.02 1 1:57.95
4 1Jy—sc C ( ) — % 34.83 4  2:17.76
5. J1)y—scC D ( ) — % 29. 40 3 2:12.75
6. #xfE+B ( ) — % 34.07 5 2:28.88

5 4 F—kE  BIE R
1. MHEHI ( ) — % 30.35 1 1:57.05
2. #FESEHRC ( ) —fi% 30. 68 5 2:08.39
3. 73 AB ( ) —fi% 29.09 3 2:08.14
4. ¥REH A ( ) —fi% 30. 26 6 2:09.18
5. J1)—sC B ( ) —fi% 33.03 4 2:08.18
6. REBF A ( ) —fi% 28. 60 2 2:06.22

6 4 F—kE  AIE  ER
1. FEEXB ( ) — % 31. 86 5 2:07.44
2. RPKFA ( ) — % 24. 86 2  1:48.79
3. BEXSC ( ) — % 32.74 3 1:51.18
4. BEKXSD ( ) — % 56. 26 6 2:31.38
5. J1y—scCc A ( ) — % 25. 64 1 1:47.52
6. WEB>E— ( ) — % 33.27 4 2:01.20

748 F—kE  BIE R
1. BEXSA ( ) —fi% 27.55 1 1:48.51
2. F—LTHEYE ( ) — % 25. 62 3 1:51.46
3. TR RAA ( ) — % 26. 64 2 1:49.73
4. BFESKA ( ) —fi% 26. 26 4 1:51.50
5. KF—& ( ) —fi% 26. 37 5 1:51.92
6. EEKXSB ( ) —fi% 33.20 6 2:15.80




